
 0

 100000

 200000

 300000

 400000

 500000

 600000

 700000

 800000

 900000

 1e+06

 0  20  40  60  80  100  120

M
em

or
y 

(K
iB

)

number of solved instances

Memory to solve an instance
(UNSAT answers, category N-ARY-EXT)

Abscon 109 ESAC
Abscon  109 AC

BPrologCSPSolver70a 2006-12-13
CSP4J - Combo 2006-12-19

CSP4J - MAC 2006-12-19
CSP4J - MAC 2007-01-16

CSPtoSAT+minisat 0.3

galac 1
galacJ beta 1

Mistral 2006-12-04
sat4jCSP 1.7 RC BF3

SAT4JCSP-CACHED 1.7 RC BF3
sugar 0.40

Tramontane 2006-12-04


